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Maths- Fractions

There are 4 cakes.
There is 1 cake in each quarter.
A quarter of 4is 1.

There are 12 sweets
There are 3 sweets in each quarter
A quarter of 12 is 3.

There are 8 peaches.
There are 2 peaches in each quarter.
A quarter of 8 is 2.

Did you fill containers? Could you find a quarter full?
A gquarter of 4 is 1. A quarter of 8 is 2

1is one quarter of 4 3 is one quarter of 12.

Problem solving

Mr. White has asked his class to put one
quarter of the balls into the hoop.

Whitney is correct
because one

WEEEy quarter of 12 is 3
QOO
@@@@ Teddy has
misinterpreted one
I'm going to put one ball in ] quarter to just
E the hoop. mean one.
Teddy
N : Tommy knows
I'm going to put three balls o)
. that quarters are
in the hoop. - _
Whitney linked to fours but
, , hasn't split the
Fen go.mg to put four balls balls into four
into the hoop. eaual
qual groups.
Tommy

Who is correct? Can you explain any
mistakes made?




Handwriting
There are no answers for today

History
There are no answers for today




